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Object.prototype
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function Foo() {
getName = function() {

alert(1)

};
return this;

}

Foo.getName = function() {
alert(2)

s

Foo.prototype.getName = function() {
alert(3)

};

var getName = function() {
alert(4)

s

function getName() {
alert(5)

};

Foo.getName(); //2

getName(); //4

Foo() .getName() // 1

getName(Q); //1
new Foo.getName(); //2
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var getname=function(){alert(4)}

function getname(){alert(5)}

T :
var getname;
funciton getname(){alert(5)}

getname=function(){alert(4)}
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function AQ) {
this.do = function() {
return 'foo'
}
}
A.prototype = function() {
this.do = function() {
return 'bar'

}
var X = new A().do()
console.log(x)
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function Cl(name) {
if (name) {
this.name = name;
}
}

function c2(name) {
this.name = name;

}
function c3(name) {

this.name = name || 'join';
3
Cl.prototype.name = 'Tom';
C2.prototype.name = 'Tom';

C3.prototype.name = 'Tom';
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console.log((new C1().name)+'/" + (new C2().name)+'/' + (new C3().name));
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function AQ {};
function B(a) {
this.a = a;

}
function c(a) {
if (@) {
this.a = a;
}
}
A.prototype.a = 1;
B.prototype.a = 1;

C.prototype.a = 1;

console.log(new A(Q).a);
console.log(new B().a);
console.log(new C(2).a);
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var F = function() {};

Object.prototype.a = function() {
console.log("a()");
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Function.prototype.b = function() {
console.log("b(");
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var f = new FQ;

F.aQ;

F.bQ;

f.aQ;

f.bQ;
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var A=function(){}
A.prototype.n=1

var b=new A(Q)

A.prototype={

n:2,

m:3
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var c=new AQ)
console.log(b.n,b.m,c.n,c.m)
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var F = function (O {}
Object.prototype.a = function (O {}
Function.prototype.b = function (O {}

var f = new FQO
&% Ha i8b
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function Person(){}

Person.prototype.n=1
var pl=new Person()
Person.prototype={

n:2,

m:3
}
var p2=new Person()
console.log(pl.n,pl.m,p2.n,p2.m)
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